|2 Mt

Material:

Knob: black polyamide

-ST: back oxided steel for body and bolt
-SS: stainless steel 304 for body and bo |t
-A: without rest position

-B: with rest position

-N: with locking nut

On request:
Special versions.

il

TR D
|
L L|L3]
B - SW SW
L2 L2
L1 A L1
di
s d2 = 2
Overview of items
Without locking nut
Steel Stainless Technical Information
Code Code Style D di d2 L L1 L2 L3 SwW
PA6201-5-M10-A-ST PA6201-5-M10-A-SS A 21 5 M10x1.0 45 5 17 5 12
PA6201-6-M12-A-ST PA6201-6-M12-A-SS A 26 6 M12x1.5 54.5 6 20 6 14
PA6201-8-M16-A-ST PA6201-8-M16-A-SS A 32 8 M16x1.5 69 8 26 8 19
PA6201-10-M20-A-ST* PA6201-10-M20-A-SS* A 32 10 M20x1.5 80 10 33 10 22
PA6201-5-M10-B-ST PA6201-5-M10-B-SS B 21 5 M10x1.0 51 5 17 5 12
PA6201-6-M12-B-ST PA6201-6-M12-B-SS B 26 6 M12x1.5 61 6 20 6 14
PA6201-8-M16-B-ST PA6201-8-M16-B-SS B 32 8 M16x1.5 75.5 8 26 8 19
PA6201-10-M20-B-ST* PA6201-10-M20-B-SS* B 32 10 M20x1.5 91 10 33 10 22
With locking nut
Steel Stainless Technical Information
Code Code D dli d2 L L1 L2 L3 SwW
PA6201-5-M10-A-N-ST PA6201-5-M10-A-N-SS A 21 5 M10x1.0 45 5 17 5 12
PA6201-6-M12-A-N-ST PA6201-6-M12-A-N-SS A 26 6 M12x1.5 54.5 6 20 6 14
PA6201-8-M16-A-N-ST PA6201-8-M16-A-N-SS A 32 8 M16x1.5 69 8 26 8 19
PA6201-10-M20-A-N-ST* PA6201-10-M20A-N-SS* A 32 10 M20x1.5 80 10 33 10 22
PA6201-5-M10-B-N-ST PA6201-5-M10-B-N-SS B 21 5 M10x1.0 51 5 17 5 12
PA6201-6-M12-B-N-ST PA6201-6-M12-B-N-SS B 26 6 M12x1.5 61 6 20 6 14
PA6201-8-M16-B-N-ST PA6201-8-M16-B-N-SS B 32 8 M16x1.5 75.5 8 26 8 19
PA6201-10-M20-B-N-ST* PA6201-10-M20-B-N-SS* B 32 10 M20x1.5 91 10 33 10 22

* Price and delivery time on request

] www.puzzleadvance.com @ Via Jean Piaget n° 123 - Zona Ind. dos Tergos - 4410 V. N. Gaia % Tel. 223 228 087 - 914 803 373 @ info@puzzleadvance.com
2E-010 '




